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 :  (1) -I      . 
Instructions :  All questions in Section-I carry equal marks. 

    (2) -I      . 
     Write the answer of any three questions from Section-I. 

    (3) -II -9  . 
     Question No. 9 in Section-II is compulsory. 

 

-I/Section-I 

 

1. ‘   ’  . 14 

 Explain : ‘    ’ 
 

2.   ,   . 14 

 Give the characteristic of ‘’ and explain in detail -. 

 

3.     14 

 Explain the following sentences : 

 (1)   
 (2)     
 

4. ‘ ’   . 14 

 Explain with example ‘  ’ 
 

5.   ,    . 14 

 Give the characteristic of  and discuss the types of . 



AJ-112 2  

6. ‘’    . 14 

 Write a detail note on ‘ ’ 
 

7.    ?      . 14 

 What is  ? Explain any two  with examples. 

 

8.        . 14 

 Write a detailed note about life and work of . 
 

-II/Section-II 

9.         ( ) 8 

 Give an answer with appropriate option of the following : (Any Four) 

 (1)       ? 
   (5, 9, 7) 

 (2)      ? 

   (, , ) 

 (3) ‘’      ? 

   (, , )  

 (4)       ? 
   (5, 3, 2) 

 (5)           ? 

   (, , ) 

 (6)           ? 

   (, , ) 

 (7)       ? 
   (3, 6, 5) 

 (8)      ? 

   (, , ) 

____________ 


